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1.	 Complete these sequences:

a) 

b)

a) Use all of the following digit and symbol cards to write a number sentence.

1 mark

1 mark

2 marks

16 24 28 40

550 500 350 300

2.	 Jamie wants to see a film that starts at 16:40. He looks at his watch to check the 
time and sees the film is starting now. Draw the hands on the watch.

3.	

2 3 5 7 8 9 <
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1 mark

1 mark

2 marks

2 marks

1 mark

4.	 Measure this line in millimetres.

a) Amal says, “If I replace the < card with an = card, it is not possible to make  	
    number sentence.”

    Explain why she is correct

mm

5.	 Write any 4 different numbers to complete this number sentence.

×

0 50 100

= ×

6.	 Estimate the missing numbers on this number line:

7.	 Draw a square and a triangle on this grid. Use a ruler.
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1 mark

2 marks

2 marks

8.	 Some children count the pencils in each pencil pot and record their findings in 
this pictogram.

Table Number of pencils

Table 1

Table 2

Table 3

Table 4

Table 5

1 pencil in the 
pictogram represents 
2 pencils in the 
pencil pots.

a) How many pencils are there 		
    altogether? 	  

b) How many more pencils are on 	       	
    table 4 than table 3? 

9.	 Complete the following fractions so they are in order from smallest to largest.

smallest largest

1 1 1

10.	 Write the 2 missing digits to make this subtraction correct:

5 0 6
-   8 0  
4 2 9
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1 mark

2 marks

2 marks

11.	 David buys 2 apples. He pays for the apples with a £1 coin. How much change 
will he receive?

32p
32p

12.	  David weighs an apple. What is the mass of the apple?

0g

50g

100g

150g

13.	 A group of children record the number of different vehicles that pass a school in 
30 minutes. They record their results in a table.

Vehicle Number of vehicles

Bus 3

Car 26

Van/lorry 11

Motorbike 6

a) How many vehicles passed the 		      	
    school altogether?

b) How many more cars passed the 		      	
    school than all the other vehicles?



**END OF TEST** total for 
this page

Year 3 Reasoning Test Set 3 Paper A 6

Page 6 of 7

2 marks

1 mark

14.	 Draw a line perpendicular to this line.

15.	 Here are 3 shapes divided equally. Shade each shape so the same fraction of each 
shape is shaded.
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1 a) 

b) 

1 mark for 
all correct.

1
mark

2 1 mark for correctly 
drawn hands. Hour 
hand must be half way 
between 4 and 5. Hour 
hand pointing to 8.

1
mark

3 a) Any correct 
answer, e.g. 235 
< 789 or 23 < 
5789

b) There would 
need to be 2 
of each digit 
to make the 
numbers equal.

1 mark for a correct 
answer. The numbers 
do not have to have the 
same number of digits.

1 mark for any 
reasonable answer that 
shows there must be 2 
of each digit.

2
marks

4 95mm 1
mark

5 Any correct 
answer, e.g.  
4 × 6 = 3 × 8

2 marks for any correct 
answer.

1 mark not awarded.

2
marks

6 20 and 95 1 mark for 18-22 
inclusive.

1 mark for 92 – 98 
inclusive.

2
marks

7 Any square or 
triangle.

1 mark for square with 
right angles and equal 
sides.

1 mark for any triangle 
with 3 sides.

2
marks

8 a) 61 pencils

b) 7 pencils

2
marks

9 Any fractions where the denominators 
decrease, e.g. �  ¼  ⅓

1
mark

10 1 mark for each 
correct digit.

2
marks

11 36p 2 marks for correct 
answer.

1 mark for correct 
method with 
only 1 mistake in 
calculation.

2
marks

12 115g 1
mark

13 a) 46

b)6

2
marks

14 1 mark for a line 
perpendicular 
wherever drawn. 
Award the mark as 
long as the intention 
is clear.

15 ⅓, ⅔ or whole 
of each shape 
is shaded.

2 marks for all 
matching.

1 mark for 2 
matching.

2
mark
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16 20 24 28 32 36 40

550 500 450 400 350 300 250

5 1 6
-   8 7  
4 2 9


